B, Qloy L3 (H.T) HYuw Slihuas ‘, .

‘p(\f): Lt S o = O

Fx) = cos Lix)=2 + X

]cr["): l v[\(~0-f)/;&1_{_,o.r): 2-—(0-:) :
by = 2

-C(x): x3~7.>< + 3 o=y

'p'(Y):;XL“L Z-(;<):7+Io(?(“'z—)

Pr[Z)‘—' ] O -F(/g);g L({Q) oy 7 + /O (_0-2) r@
() =7

!
Foxy =7 a =3

f(»n=17 F2)x Lf25)="T7+2 (-0.5) "’@

i )=cs ()  aze
+0y= | Lix)= 4+ %
Floy=y Fro)ax)(oy)= Y10y = /Y Y

> 'F?)(): A-X a =4
oy —2 L(k) = 3—20Kk-v)

Lfeyy= 3 ‘P(‘f.?,)xL('f,:,):g-.z(o.L)



b AP s dl =F fyda
- (2(1)—5)(0.;)

= (=) o-1)

:EE_T

7. AV dVz V@) dx

ey \/I/c})[—o,oz) |

= 3(s1)(-o-0t)

: -
8. AL xde =)

- 7‘[(0,02,)

3124

Lot Fex)=3x  &=27
Fros 47 - 5
Fin)- w" =
?(u = o1 = 3

o= 2 OLx: o.!

7'2/()(): 2)(""5

a= 2 J{: 0.02
(= 1d
Cldy=1

7
L(x)_ 3+ 3= (x—27)

i = £ (r6) =LL)

= 3 1’{‘7(")
- - |
3 -4
= &
R I
o e e
A



19¢T#S
o) VEdbhi = L()(3)(s) =15 &3

D) o] 9L =2
Find dA whe VLT
Lémﬂwmo_L 1b6.-h-s = £L.4




Y __'_J)./_. _
el - ’°) (zs) {nTl'_ Eipey”

y dA -
Fadl 55 R V=300 = 2w =Ynrc3

P =27 — r=3

| A=me®
: .g;‘-é - l’?ff%";—
A,
) LT ()= S om Ysee
==
C‘l F"\A r O\J\tv\ -g)!'! = a_i;f
N _ v -
LA ;f‘&'r"f} Lf"r"ti = ﬁ';‘
Jf: = &f Yrr® = |
r= 1
PE




	2020-07-22 17-30-1.pdf
	BC.Q103.L3.HWSOL

